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Add two two-digit numbers

ok

#D How many lollipops are there altogether? ( + z[

31+ 54= 52437 =

26+43= - 65+23=

64+ 32 = 72+ 25=

) How many oranges and pears are there in total? + = r
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27 +57 =

72+19= 49 + 38 =

58 +36= 37 +45=

k)

%'; .g
Number - addition and subtraction %

© Copyright HeadStart Primary Lid




NAIMIE et aeeeeeraneneanes v Class . Date

-----------------------

Subtract two two-digit numbers
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@) Solve the following.
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- 59-35= - 88-33=

47 -31= 9/ -22=

9 How many more bats than balls are there? [ [
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&) Hove a go at these.

04 - 57 = N 7618 = ey
93-86=| P
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